H—4 L HhB0a5 Vol 125 ik
[~ T v [ 2& [ a& [ & [ mh |

253] K-08-8 [D6X13 588 D6x13 & 28
254| K-08-3 [D6X13 588 D6x13 & 28
254| K-08-3 [D6X13 588 D6x13 & 28
254| K-08-3 [D6X13 588 D6x13 & 28
254] K-08-3 [D8X13 588 D8x13 & 36
300/ K-01-1 |262.50.368 ¥ JL—LiW—Y AS Ve 150
300| K-01-2 [262.50.390 9 Jb—hi'-Y ASR @ 180
300| K-01-3 [262.50.359 Iy WEbN—Y AS & 150
301| K-02-1 [262.49.365 9 Jb=Ln'-Y EH & 110
301 K-02-2 |262.49.367 9 JL—hnN'—Y EHS & 160
301 K-02-3 |262.51.380 h ToUY WIL—hN—Y AD & 220
301| K-02-4 [262.49.356 Ty WNRMN=Y )97 & 110
302| K-03 [46080 INFY)y7’ & 250
303| K-04-1 [262.87.041 Y+Y7499R 685 ® 740
303| K-04-1 [262.87.042 Y¥Y7499R 1545 ® 760
303] K-04-2 [262.87.190 RVIMIAR WV =%x97" T390 & 76
303] K-04-2 [262.87.390 YRVIMIAR IN—%x97" Th & 76
303] K-04-2 [262.87.790 RVIHA I —%x97" Kb & 76
303| K-04-3 [262.96.211 1#83iA14949— 65mm & 170
303| K-04-3 |262.96.220 1#83iA31444—150mm I 210
303| K-04-4 [262.86.190 RVIMIAR WV —=%x97" T390 & 60
303] K-04-4 [262.86.390 YRVIIAR IN—%x97" Th & 60
303] K-04-4 [262.86.790 RVIHAR I —%x97" Kb & 60
304| K-04-2 [262.87.190 IXY79R IN—%vy7" 779 18 64
304| K-04-2 |262.87.390 YRVIIAR IN—%x97" Th & 64
304| K-04-2 [262.87.790 RVIHAR I —%x97" Kb & 64
304 K-05-1 |262.87.603 WXV =Y & 300
304| K-05-2 |262.87.931 EHER VS35 16x 35 & 136
304| K-05-2 |262.87.932 EHER VS35 16 %55 & 164
304| K-05-3 [262.87.901 FEH#ERIVFS35 M6 X 35 & 120
304| K-05-3 |262.87.902 FEH#ERIVFS35 M6 X 55 & 146
304| K-05-3 [262.87.911 FE#ERIVFS35 M8 X 35 & 120
304| K-05-3 [262.87.912 JE#ERIVFS35 M8 X 55 & 146
305/ K-10-1 [262.53.300 9)y7'RK3rHs— TERRN-Y & 100
305| K-10-1 [262.53.310 §)y7 Karyy— EERN-Y & 70
305| K-10-2 |267.90.000 E'2ryhb 0 (1000fEAY) 3 11,600
305| K-10-2 |267.90.010 E'Rfyb 10 (1000fEAL)) 3 11,600
305| K-10-2 |267.90.020 E'2ryh 20 (1000{EAY)) 3 11,600
306 K-16-1 |574331 F32/DF500Q & 345000
306] K-16-2 [498899 N3/Fy7 £9DS yh 97620
307| K-16-7 [493487 MJARRY N~ 55 22.920
307| K-16-10 |495666 NIVIHANIIVR F 11,070
307| K-16-3 [494938 N3/F97° R — R E-FM (T AT VAN YYEE] 5% 30mm  (3001E) Nyl 5,960
307| K-16-3 [494939 N3/F97 R — R E-FM T AT VAN YYEE] 6 x 40mm  (1901E) Nyl 5,960
307| K-16-3 |494940 N3/F97 A — R E-FMT AT VAN YYEE] 8 x 40mm  (1301E) Nyl 5,960
307| K-16-3 [494941 N3/F97 A —HEF E-FM(T AT VAN YYEE] 8 x 50mm  (1001&) Nyl 5,960
307| K-16-3 [494942 N3/F97° R — R E-FM T AT VAN YYEE] 10 x 50mm  (851H) Ny 5,960
307| K-16-3 [495661 N3/F97° R —HEF E-FM T AT VAN YYEE] 4% 20mm  (4501E) Nyl 5,960
307| K-16-4 [493296 MYFy7 A — M E—F M (FEFFE) 5% 30mm  (18001&) ] 31,550
307| K-16-4 [493297 MUFy7 A — A E—FM(FEFFE) 6 x 40mm  (11401&) ] 31,550
307| K-16-4 [493298 M3I/Fy7' A — MR E-FA (FEFAFE) 8 x 40mm  (7801&) ] 31,550
307 K-16-4 [493299 M3/Fy7'A — MR £ -F4 (FEFAFE) 8 X 50mm  (6001&) ] 31,550

Cirele



H—4)LHE0a45 Vol. 1258 i &=
[~y [+ [ && [ &% | = [ @

307| K-16-4 |493300 N3/Fy7 A —HRF E-FA(FEFFE) 10 x 50mm  (5101&) ] 31,550
307| K-16-4 [498686 FN3/F97 A —HEF £ —F# 09 Fy7° 8 x 750mm  (364E) 55 31,550
307| K-16-5 |494859 N3/FY7'R THATYTF VK #4 5% 30mm  (9001&) i 36,020
307| K-16-5 |494860 N3/FY7R THATYTF VK #4 6 x 40mm  (5701@) i 36,020
307| K-16-5 [494861 N3/FY7R THATYTF VK #4 8 x 40mm  (3901&) i 36,020
307| K-16-5 |494862 N3/F97'R THATYTF VK #4 8 x 50mm  (3001&) i 36,020
307| K-16-5 |494863 N3/FYT R THATYT A VK #F 10 x 50mm  (2551&) i 36,020
307| K-16-6 [493490 F3/fv4— HD D5 NL20 F5 13,030
307| K-16-6 [493491 F3/hy4— HW D6 NL28 F5 13,330
307| K-16-6 |493492 F3/hy4— HW D8 NL28 F5 13,810
307| K-16-6 [493493 Fi/hy48— HW D10 NL28 3 15,630
307| K-16-6 |495663 F3/hy4— HW D4 NL11 F5 15,180
307 K-16-8 [498590 JORAMYN = 55 24560
307| K-16-9 (494847 NN VITIVA 3 19,200
308| K-17-1 |201366 F3/DF500 3—F =20y 3{UMA MY 30k & 47,620
308| K-17-2 |203168 }MI/DF500 I—F=nN"4IbY 3 YATAR=ILY 34 b & 38,990
308| K-17-3 |203167 F3/DF500 to3-nN#UY 34U M/ 3Ub & 34,680
308| K-17-4 |203169 F3/DF500 tu3—nN"4Y 3A UM YATAR=LY 3( Uk & 31,250
309| K=17-10 [203165 F32/DF500 MYLTYT L—b FYLIHYS— & 29,770
309| K=17-11 203175 }32/DF500 }'3/F97° D8 x 36/130BU P 7.300
309| K=17-12 |203176 F'3/DF500 YATFH—1TL F5 38,840
309| K=17-13 |203170 F32/DF500 F2/3494—YATH—tyb b 170,240
309| K-17-5 [203171 F3/DF500 in—%+vy7" 7790 (50fEAY) & 3,280
309| K-17-6 [203172 F3/DF500 in—%+vy7" Vb= (50fAY) (i 5,960
309| K-17-7 [203173 N3/DF500 hv—%+y7" B (50fAAY) & 3,280
309| K-17-8 [203174 M3/DF500 Ain—%vy7" 4'L— (50{EAY) & 3,280
309| K-17-9 [203164 F32/DF500 FULTYIL—b F3/3495—-RNYNIhYE— 1& 40,930
310 K=15-1 [t —%P2tyb FA0P-Y AT L & 396,000
311| K-15-2 |P-14 C-100 97,99 AP-14 100 nyh 38,000
311] K-15-2 [267.91.136 97,99 AP-14 300 nNyh 114,000
311| K-15-2 |P-10 C-100 97299 AP-10 100 Nyh 38,000
311] K-15-2 [267.91.130 97499 AP-10 300 nNyh 114,000
311| K-15-3 |P-14 T-100 T7U)-P-14 £179757°5 100 Nyl 22,000
311| K-15-3 |267.91.152 TUY-P-14 £M79507° 300 Nyl 66,000
311| K-15-4 [P-18D-100 TWYAP-18 23481V 4707°=K 100 Nyh 26,000
311| K-15-4 [267.91.155 TWYAP-18 23481V 9707°=K 300 Nyh 78,000
312| K-11-1 |045.00.145 @ 10mmyRFA PCAN=F+97" #'=97'39y nyh 420
312| K=11-1 [045.00.243 @ 1ommyFl PCAN —%+y7" 777V N9 420
312 K-11-1 [045.00.341 ¢ 10mmye A PCAn—%vy7" 2 Nyh 450
312| K-11-1 |045.00.540 b 10mmy Al PCAN —F497" 4 L— Ny 450
312| K-11-1 |045.00.743 G 10mmyF PCAN—%v97" B Nyl 450
312| K-11-2 [045.33.050 o 10mmyN A RBAN %497 NV & 160
312| K-11-2 |045.33.150 o 10mmy A RBAN %497 A=TN & 160
312| K-11-2 |045.33.350 @ 10mmyNFl AREAN-Fvv7" 7T 1@ 160
312| K-11-2 |045.33.450 o 10mmyN A KRBAN—Fvy7" £-4 & 160
312| K-11-2 |045.33.550 o 10mmy A ARBAN—Fvy7" Tuda & 160
312| K-11-3 [340.41.104 @ 35mm £V hy 7 BAN—Fvy7" 7770 & 32
312| K-11-3 |340.41.702 @ 35mm kv hy7 AN -%vv7" B & 32
312| K-11-5 |045.00.158 IO AN - penmyAE 759y Nyh 480
312| K-11-5 |045.00.159 IO AN penmyFE NIUE Y 480
312| K-11-5 |045.00.358 NEHAIN - penmy A THE Nyl 480
312 K-11-5 |045.00.359 TURHRAIN - @ emmE RE nyh 480

Cirele



H—2 )L AZ0%5 Vol 125 i &k

312| K-11-5 [045.00.559 TIEDH AN - P emmy A 74 L nyY 480
312| K-11-5 [045.00.759 TIEH AN - penmyNFA B N9 480
313| K-06-3 [SC-1 NY'L— tybey7” 1 NYL- Nyh 600
313] K-06-3 [SC-10 77§ b7 10 395 Ny 600
313| K-06-3 [SC-11 % by 11 K Nyh 600
313| K-06-3 [SC-12 N§¥—% tybdry7” 12 N¥-) NyY 600
313| K-06-3 [SC-13 #EBE tybry7’ 13 $5EBA Y 600
313| K-06-3 [SC-14 #7Mh'—Ya ybEry7’ 14 KM=V Ny 600
313| K-06-3 [SC-15 7'L-¥a tybyy7” 15 JL-Va Nyh 600
313| K-06-3 [SC-16 W Eybdry7” 16 W Nyh 600
313| K-06-3 [SC-17 ~A—Y1 Bybry7” 17 A'=Ya Noh 600
313| K-06-3 [SC-18 IN tybtey7” 18 IN Nyh 600
313| K-06-3 |[SC-19 AF{M'L— tyhry7” 19 AN - Nyh 600
313| K-06-3 [SC-2 5365 tybyy7” 2 5365 Nyh 600
313| K-06-3 [SC-20 #74MyL— Tyhry7” 20 KON L- Nyh 600
313| K-06-3 [SC-21 T7L- tybry7” 21 T - Nyh 600
313| K-06-3 [SC-22 5364 tyb¥vy7’ 22 5364 Y 600
313| K-06-3 [SC-23 K7L- ybry7’ 23 KYL- Nyh 600
313| K-06-3 [SC-24 /'L— tybtey7” 24 H'L- Nyh 600
313| K-06-3 [SC-25 H tybdey7" 25 B Nyh 600
313| K-06-3 [SC-26 fERETAHY- tybry7” 26 FRETAH Y- Nyl 600
313| K-06-3 [SC-27 74&Y)— tybey7” 27 TARY- Nyh 600
313| K-06-3 [SC-28 744")-E547 by’ 28 FARY-ES47 Ny 600
313| K-06-3 |SC-29 74}y")-Y by’ 29 F4M-Y Nyh 600
313| K-06-3 |SC-3 #§7L— by 3 B Nyl 600
313| K-06-8 [SC-30 31}7— tybryy7” 30 74+7°0— Nyh 600
313| K-06-8 [SC-31~45 tyby7 31~45 Y Z
313 K-06-3 |SC-4 #—97L— tybvy7” 4 S0 1- Nyh 600
313| K-06-3 [SC-5 5366 tyb¥vy7" 5 5366 Nyl 600
313| K-06-3 [SC6 & tybfvy7” 6 B Nyl 600
313| K-06-3 [SC-7 LB34+7'3%Y tybdyy7” 7 LBIAMT TV NyY 600
313| K-06-3 [SC-8 IOf tyb¥vy7” 8 108 Nyh 600
313| K-06-3 [SC-9 N7'77%Y wyhry7" 9 N7'59Y Nyh 600
313| K=11-4 [045.23.300 PVCHN —%+97 14mmE (531@) Y—b 900
313| K=11-4 [045.23.700 PVCAN —%+97 14mmE (531&) Y—b 900
314| K-06-1 [SB-6x15 Ty R IE 6% 15 I 39
314| K-06-1 [SB-6x20 ybry7 H L 6% 20 & 29
314| K-06-1 [SB-6x26 b ry7 H L 6% 26 & 29
314| K=06-1 |SB—6x30 ey K 6%30 I 28
314| K-06-1 [SB-6x35 ybry7 H UV 6% 35 & 30
314| K-06-1 [SB-6x40 ybry7 H L 6% 40 & 30
314| K-06-1 [SB-6x45 ybry7 R 6% 45 & 34
314| K-06-1 [SB-6x50 ybry7 H L 6X 50 & 34
314| K-06-1 [SB-6x55 ybry7 H VL 6% 55 & 34
314| K-06-1 |SB—6x60 ey KL 6% 60 I 36
314| K-06-1 [SB-6x70 yb Y7 H AL 6X 70 & 42
314| K-06-2 |SN-6x14 tybry7Fyb 6x14 I 72
314| K-06-2 [SN-6x19 ybEry7Fyb 6x19 I 76
314| K-06-4 [SW-1 ¢4 Bty vy 70— & 16
314| K-06-4 [SW-1 /I BEiftybyry7 Iyse— N & 16
314| K-06-4 [SW-1 X BEiftyh vy Ive— K & 16
314| K-06-4 [SW-1 = Bty yry7 Iyoe— & 16

Cirele




H—4)LAHK2Aa%5 Vol 12l &R

314| Kk-06-4 |SW-2 4 EBEEE— ¢4 & 12
314| K-06-4 [SW-2 5.1 EHEED - ¢5.1 I 12
315/ K-07-1 |JCB-A=6x23 GB JCB-A+6 X 23 GB 1@ 62
315 K=07-1 |JCB-A=6 X 23 Ni JCB-A=£6 X 23 Ni 1@ 62
315/ K-07-1 |JCB-A=6 %30 GB JCB-A=6 X 30 GB 1@ 66
315 K=07-1 |JCB-A=6 % 30 Ni JCB-A=6 X 30 Ni 1@ 66
315/ K-07-1 |JCB-A=6x35 GB JCB-A=6 X 35 GB 1@ 72
315 K=07-1 |JCB-A=6 X 35 Ni JCB-A=£6 X 35 Ni 1@ 72
315/ K-07-1 |JCB-A=6 x40 GB JCB-A=6 X 40 GB 1@ 74
315 K=07-1 |JCB-A=6 x40 Ni JCB-A=£6 X 40 Ni 1@ 74
315/ K-07-1 |JCB-A=6x45 GB JCB-A=+6 X 45 GB 1@ 76
315 K=07-1 |JCB-A=6 X 45 Ni JCB-A=£6 X 45 Ni 1@ 76
315/ K-07-1 |JCB-A=6 x50 GB JCB-A=6 X 50 GB 1@ 80
315 K=07-1 |JCB-A=6 x50 Ni JCB-A=£6 X 50 Ni 1@ 80
315/ K-07-1 |JCB-A=6x55 GB JCB-A=6 X 55 GB 1@ 80
315 K=07-1 |JCB-A=6 X 55 Ni JCB-A=£6 X 55 Ni 1@ 80
315/ K-07-1 |JCB-A=6 %60 GB JCB-A=6 X 60 GB 1@ 90
315 K=07-1 |JCB-A=6 X 60 Ni JCB-A=£6 X 60 Ni 1@ 90
315/ K-07-1 |JCB-A=6x70 GB JCB-A=+6 X 70 GB 1@ 104
315 K=07-1 |JCB-A=6 X 70 Ni JCB-A=£6 X 70 Ni 1@ 104
315/ K-07-1 |JCB-A®S % 23 GB JCB-A®)6 x 23 GB 1@ 62
315 K=07-1 |JCB-A®6 x 23 Ni JCB-A®)6 X 23 Ni 1@ 62
315/ K-07-1 |JCB-A®6 x 30 GB JCB-A®)6 X 30 GB 1@ 66
315 K=07-1 |JCB-A®6 x 30 Ni JCB-A®)6 X 30 Ni 1@ 66
315/ K-07-1 |JCB-A®S x 35 GB JCB-A®)6 x 35 GB 1@ 72
315 K=07-1 |JCB-A®6 x 35 Ni JCB-A®)6 X 35 Ni 1@ 72
315/ K=07-1 |JCB-A®6 x 40 GB JCB-A®)6 X 40 GB 1@ 74
315 K=07-1 |JCB-A®6 x 40 Ni JCB-A®)6 X 40 Ni 1@ 74
315/ K=07-1 |JCB-A®6 x 45 GB JCB-A®)6 x 45 GB ® 76
315 K=07-1 |JCB-A®6 x 45 Ni JCB-A®)6 % 45 Ni ® 76
315/ K=07-1 |JCB-A®6 x 50 GB JCB-A®)6 X 50 GB 1@ 80
315 K=07-1 |JCB-A®6 X 50 Ni JCB-A®)6 X 50 Ni 1@ 80
315/ K=07-1 |JCB-A®S % 55 GB JCB-A®)6 X 55 GB 1@ 80
315 K=07-1 |JCB-A®6 x 55 Ni JCB-A®)6 X 55 Ni 1@ 80
315/ K-07-1 |JCB-A®6 x 60 GB JCB-A®)6 X 60 GB 1@ 90
315 K=07-1 |JCB-A®6 X 60 Ni JCB-A®)6 X 60 Ni 1@ 90
315/ K-07-1 |JCB-A®6 x 70 GB JCB-A®)6 x 70 GB 1@ 104
315 K=07-1 |JCB-A®6 x 70 Ni JCB-A®)6 X 70 Ni 1@ 104
315 K-07-2 |JCN-A+6x12 GB JCN-A+6%x12 GB 1@ 62
315 K=07-2 |JCN-A=6x12 Ni JCN-A£6X12 Ni 1@ 62
315 K=07-2 |JCN-A+6x17 GB JCN-A+6%x17 GB 1@ 66
315 K=07-2 |JCN-A=6x17 Ni JCN-A£6X17 Ni 1@ 66
315 K-07-2 |JCN-B®6 x 12 GB JCN-B®6 % 12 GB 1@ 62
315 K-07-2 |JCN-B®S6 %12 Ni JCN-B®6 % 12 Ni 1@ 62
315 K-07-2 |JCN-B®6x 17 GB JCN-B®6 %17 GB 1@ 66
315 K-07-2 |JCN-B®S6 %17 Ni JCN-B®6 % 17 Ni 1@ 66
316] K-13-1 |JCB-B=6x15 GB JCB-B+6 % 15 GB 1@ 34
316] K=13-1 |JCB-B=6x 15 Ni JCB-B£6 X 15 Ni 1@ 34
316] K-13-1 |JCB-B=6x30 GB JCB-B=6 X 30 GB 1@ 42
316] K=13-1 |JCB-B=6 x 30 Ni JCB-B=6 X 30 Ni 1@ 42
316] K-13-1 |JCB-B=6x35 GB JCB-B=6 X 35 GB 1@ 42
316] K=13-1 |JCB-B=6 x 35 Ni JCB-B=£6 X 35 Ni 1@ 42

Cirele




H—2 )L AZ0%5 Vol 125 i &k

316| K-13-1 |JCB-B=%6x40 GB JCB-B=6 x 40 GB 18 42
316| K=13-1 |[JCB-B=%6x40 Ni JCB-B=%6 X 40 Ni 18 42
316| K-13-1 |JCB-B=%6x45GB JCB-B=6 x 45 GB 18 48
316| K=13-1 |JCB-B=%6x45Ni JCB-B=%6 x 45 Ni 18 48
316| K-13-1 |JCB-B=%6x50 GB JCB-B=6 x 50 GB 18 52
316| K=13-1 |[JCB-B=%6x50 Ni JCB-B=%6 X 50 Ni 18 52
316| K-13-1 |JCB-B=%6x60 GB JCB-B=6 x 60 GB 18 60
316| K-13-1 |[JCB-B=%6X60 Ni JCB-B=%6 X 60 Ni 18 60
316| K-13-1 |JCB-B=%6x70 GB JCB-B=6 x 70 GB 18 72
316| K-13-1 |[JCB-B%6Xx70 Ni JCB-B=%6 % 70 Ni 18 72
316| K-13-1 |JCB-B®6 x 15 GB JCB-B®)6 x 15 GB ® 34
316| K-13-1 |JCB-B®6 X 15 Ni JCB-B®6 x 15 Ni ® 34
316| K-13-1 |JCB-B®6 x 30 GB JCB-B®)6 x 30 GB ® 42
316| K-13-1 |JCB-B®6 x 30 Ni JCB-B®6 x 30 Ni ® 42
316| K-13-1 |JCB-B®6 x 35 GB JCB-B®)6 x 35 GB ® 42
316| K-13-1 |JCB-B®6 x 35 Ni JCB-B®6 x 35 Ni ® 42
316| K-13-1 |JCB-B®6 x 40 GB JCB-B®)6 x 40 GB ® 42
316| K-13-1 |JCB-B®S6 x40 Ni JCB-B®)6 x 40 Ni ® 42
316| K-13-1 |JCB-B®6 x 45 GB JCB-B®)6 x 45 GB ® 48
316| K-13-1 |JCB-B®6 x 45 Ni JCB-B®)6 x 45 Ni ® 48
316| K-13-1 |JCB-B®6 x50 GB JCB-B®)6 x 50 GB ® 52
316| K-13-1 |JCB-B®S6 x50 Ni JCB-B®6 x 50 Ni ® 52
316| K-13-1 |JCB-B®6 x 60 GB JCB-B®)6 x 60 GB ® 60
316| K-13-1 |JCB-B®S6 X 60 Ni JCB-B®6 x 60 Ni ® 60
316| K-13-1 |JCB-B®6 %70 GB JCB-B®)6 x 70 GB ® 72
316| K-13-1 |[JCB-B®6 %70 Ni JCB-B®6 x 70 Ni ® 72
316 K-13-2 |GTC M6 x10 BL MBIEEECAPE'Z M6 £ ® 48
316| K-13-2 |[GTC M6x10 UC MBIEEECAPE'A M6 1240 ® 96
316] K-13-2 |GTC M6x12 BL ¥B{EEECAPE'ZA M6 2 ® 80
316| K-18-2 [GTC M6x12UC MBIEEECAPE'Z M6 1240 ® 98
316 K-13-2 |GTC M6 x16 BL MBIEEECAPE'Z M6 £ ® 84
316| K-13-2 [GTC M6x16 UC MB{EEECAPE'Z M6 1240 ® 104
316 K-13-2 |GTC M6 x20 BL MBIEEECAPE'Z M6 2 ® 36
316] K-13-2 |GTC M6 x20 UC MBIEEECAPE'Z M6 1240 ® 110
316] K-13-2 |GTC M6 x25 BL FB{EEECAPE'Z M6 2 ® 92
316] K-18-2 |GTC M6 x25 UC MB{EEECAPE'Z M6 1240 ® 122
316 K-13-2 |GTC M6 x30 BL MBIEEECAPE'Z M6 £ ® 110
316| K-13-2 |GTC M6 x30 UC MBIEEECAPE'Z M6 1240 ® 150
316] K-13-2 |GTC M6 x6 BL ¥B{EEECAPE'Z M6 2 ® 120
316] K-13-2 |GTC M6x6 UC MBIEEECAPE'A M6 1240 ® 162
316 K-13-2 [GTC M6 x8 BL MBIEEECAPE'Z M6 2 ® 46
316] K-13-2 |GTC M6x8 UC MBIEEECAPE'Z M6 1240 ® 92
316 K-13-3 [GTC M8x10BL MB{EEECAPE'Z M8 2 ® 176
316| K-13-3 [GTC M8 x 10 UC MB{EEECAPE'Z M8 1240 ® 230
316| K-13-3 |[GTC M8x 12 BL MBIEEECAPE'Z M8 £ ® 134
316| K-13-3 [GTC M8x12UC MB{EEECAPE'A M8 1240 ® 180
316] K-13-3 |GTC M8x16 BL ¥B{EEECAPE'Z M8 2 ® 138
316] K-13-3 |GTC M8x 16 UC MB{EEECAPE'Z M8 1240 ® 186
316 K-13-3 |GTC M8x20 BL MBIEEECAPE'A M8 £ ® 140
316| K-13-3 |GTC M8x20 UC MBIEEECAPE'A M8 1240 ® 188
316] K-13-3 |GTC M8x25 BL ¥B{EEECAPE'Z M8 2 ® 144
316] K-13-3 |GTC M8x25UC MBIEEECAPE'A M8 1240 ® 194

Cirele




H—4 L HhB0a5 Vol 125 ik
[~ T v [ @& [ & ] & [ m# |

316 K-13-3 |GTC M8x30 BL HB{EEECAPE'Z M8 £ I 156
316| K-13-3 |GTC M8x30 UC MBIEEECAPE'A M8 1240 ® 198
316 K-13-3 [GTC M8x8 BL HB{EEECAPE'Z M8 £ ® 180
316 K-13-3 [GTC M8x8UC M{EEECAPE'A M8 1240 ® 239
317| K-08-1 [A4X10 SBE A4x10 ® 29
317] K=08-1 [A6X10 5BE A6x10 ® 30
317| K-08-1 [A6X13 BE A6Xx13 ® 30
317| K-08-2 [B8X13.5 58E B8x135 ® 32
317| K-08-3 [D10x13 58E D10x13 ® 44
317| K-08-3 [D4x20 58E D4x20 ® 30
317] K=08-8 [D5X13 588 D5x13 ® 32
317] K-08-3 [D6X10 588 D6x10 ® 30
317| K-08-3 [D6X13 58E D6x13 ® 34
317] K-08-8 [D6X16 588 D6x16 ® 36
317] K=08-3 [D6x20 588 D6x20 ® 38
317| K-08-3 [D6X25 58E D6x25 ® 44
317] K=08-8 [D8X13 588 D8x13 ® 36
317] K=08-8 [D8X25 588 D8x25 ® 56
317| K-08-4 [E4x10 8B E4x10 I 24
317] K-08-4 [E6X13 BE E6X13 I 30
317| K-08-4 [E6x20 58E E6x20 I 36
317] K-08-4 [E8X13 BE E8x13 I 34
317| K-08-4 [E8x20 58E E8x20 I 44
317] K-08-4 [E8X25 BE E8X25 I 48
318| K-14-1 |011.00.214 BlE+Y ¥4+ANF4N—ILEE/DIN 97 2.5x12 (500K AY) 5 22620
318] K-14-1 [011.00.232 BEE+Y ¥4+ AN34N'—EE/DIN 97 2.5%x16 (5004 AlY)) 3 15,480
318| K-14-1 [011.00.241 EE+Y ¥4+ ANF4N—IEE/DIN 97 2.5x%20 (5004 AY) £ 24,470
318] K-14-1 |011.00.438 BlE+Y ¥4+ANF4n'—ILEE/DIN 97 2.5x30 (200K AY) 5 5,980
318| K-14-1 |011.00.447 BlE+Y ¥4+ANF4n'—ILEE/DIN 97 3.0x20 (200K AY) 5 7.380
318| K-14-1 |011.00.458 BlE+Y ¥4+ANF4n—ILEE/DIN 97 3.0x25 (200K AY) 5 9,000
318| K-14-1 |011.00.529 BlE+Y ¥4+ANF4n'—ILEE/DIN 97 3.0x16 (200K AY) 5 6,200
318] K-14-1 |011.00.538 BlE+Y ¥4+ANF4n'—ILEE/DIN 97 3.5x%20 (200K AY) 5 5,960
318| K-14-1 |011.00.547 BlE+Y ¥4+ANF4n'—ILEE/DIN 97 35%25 (200K AY) 5 8.670
318] K-14-1 [011.00.565 BEE+Y ¥4+ AN34n'—EE/DIN 97 3.5%x35 (2004 AlY)) 3 10,980
318| K-14-1 |011.00.629 BlE+Y ¥4+ANF4N'—ILEE/DIN 97 45x40 (200K AY) 5 18,910
318| K-14-2 [011.20.216 BE+Y ¥4+ANF4N—FLMEE/DIN 95 2.5%12 (500K AY) ] 14,530
318| K-14-2 |011.20.234 BEE+Y ¥4+ANFAN—HIMEE/DIN 95 25%x16 (50048 AY) E< 23,220
318| K-14-2 |011.20.243 BEE+Y ¥4+ ANF4N - MMEE/DIN 95 2.5%x20 (5004 AY) E< 18,690
318| K-14-2 |011.20.430 BEE+Y ¥4+ANF4N-FMMEE/DIN 95 3.0x16 (2004 AY) E< 5,550
318| K-14-2 |011.20.447 BEE+Y ¥4+ANF4N - MMEE/DIN 95 3.0%x20 (2004 AY) E< 6,530
318| K-14-2 |011.20.458 BEE+Y ¥4+ANF4N-FMMEE/DIN 95 3.0%x25 (2004 AY) E< 7.620
318] K-14-2 |011.20.529 BEE+Y ¥4+ANF4N—-H MMEE/DIN 95 35%x16 (2004 AY) E< 6,670
318| K-14-2 |011.20.538 BEE+Y ¥4+ANF4N—FMMEE/DIN 95 3.5%x20 (2004 AY) E< 7.670
318| K-14-2 |011.20.547 BEE+Y ¥4+ANF4N—F MMEE/DIN 95 3.5%x25 (2004 AY) E< 9,580
318] K-14-2 |011.20.556 BEE+Y ¥4+ ANF4N—HMMEE/DIN 95 3.5%x30 (2004 AY) E< 10,790
318| K-14-2 |011.20.604 BEE+Y ¥4+ANF4N—-H MMEE/DIN 95 40x16 (2004 AY) E< 8,910
318| K-14-2 |011.20.605 BEE+Y ¥4+ ANF4N-FMMEE/DIN 95 40%x20 (2004 AY) E< 8,340
318| K-14-2 |011.20.609 BEE+Y ¥4+ANF4N—F,MMEE/DIN 95 4.0x40 (2004 AY) 5 15,360
318| K-14-3 |69646 EREE A Bf//0—L 15%15 PN 300
318| K-14-3 |69647 fEREE A Ef//0—L 15X 20 PN 290
318| K-14-3 |69648 EREE AE) Bf//0—L 15% 25 PN 310
318] K-14-3 |69649 fEREE AN E/90—L 15X 30 PN 330

Cirele



H—4)LHE0a45 Vol. 1258 i &=
[~y [+ [ && [ &% | = [ @ |

318] K-14-3 |69650 efEE RGN B /90—L 19x20 PN 350
318] K-14-3 |69651 E#EE RGN B /90—L 19x25 PN 370
318| K-14-3 |69652 fEREE ) Ef//0—L 19 %30 PN 400
318| K-14-3 |69653 fEREE AE) Bf/90—L 19x 35 PN 410
318| K-14-3 |69654 EREE ) Ef//0—L 19 x40 PN 460
318| K-14-3 [69655 {EREE (BN H) Ei//0—L 19Xx 20 P 290
318| K-14-3 [69670 EREE ) Ef//0—L 19 %45 PN 590
318| K-14-4 |69674 A-Lybhe A(EISE) ATULA 15 %20 & 970
318| K-14-4 |69675 A-Lybhe A(EIEE) ATULR 15 %25 & 990
318| K-14-4 [69676 A—Lyht A(EH]) ATULR 20X 18 & 1,070
318| K-14-4 |69677 A-Lyhe A(EIEE) ATULR 20 % 25 & 1,300
318| K-14-4 |69699 A-Lybe A(EIEE) ATULR 15 %15 & 820
318| K-14-4 (69700 A—Ly bt A(E ) ATULA 20 X 30 & 1,400
319 K-12-1 [006.28.210 MLYR nUNEZ4N = T10 & 3,780
319] K-12-1 |006.28.211 MLIR NUF T4 = T15 & 4120
319] K-12-1 |006.28.212 MLIR nOFEI4N = T20 & 3.930
319] K-12-1 |006.28.213 MLIR NUF T4 — T25 & 4470
319] K-12-1 |006.28.215 MLIR nUFEI4N— T30 & 5080
319| K-12-2 [019.01.900 KAN MR/ INEE $EY5AF)7 1+ 40x25 (1000KAY)) ] 16,790
319 K-12-2 [019.01.901 KAN PV A/INEE YBYIAF)7 '+ 40x30 (1000 AY) b 19,170
319 K-12-2 |019.01.902 KAN PV A/INEE YBYIAF) 7' 40x35 (1000 AY)) b 20,600
319| K-12-2 [019.01.903 KAV M)A/ IEE HBY5AAHY7 1+ 40%40 (500K AY) i 11,310
319 K-12-2 [019.01.904 RAN-MVYR/IER BY5AH7fF 40%x45 (500KAY) s 12,500
319 K-12-2 [019.01.905 RAN-MVYR/MER BY5A7'fF 40%X50 (500A8AY) s 13,100
319] K-12-2 |019.01.907 KAN MR/ INEE HEYAA)7 1 4.0%x60 (500K AY) P 17,380
319] K-12-2 |019.01.908 KAN M)A/ INEE HEYAA)7 1 4.0x70 (200K AY) P 8,650
319 K-12-2 [019.01.923 RAN-MVYR/MER BY5A)7'fF 45%50 (500A8AY) s 19,110
319] K-12-2 |019.01.924 KAN M)A/ INEE HEYAA)7 1 45%60 (200K AY) P 8,100
319] K-12-2 |019.01.943 KAN MR/ INEE HEYAA)74F 5.0x70 (200K AY) P 10,480
319 K-12-2 [019.01.944 RAN-MVYR/IER $BY5A+)7'fF 50%80 (2008AY) s 12,170
319| K-12-3 [015.73.526 MHR-EEgRAvF 3.0x13 (10004 AY) S 9,530
319] K-12-3 [015.73.535 MUOA-EESRAE 3.0%x15 (1000 AY) 5 10,720
319] K-12-3 [015.73.544 MLOR-EBERAvd 3.0x17 BEE S = 4,000
319| K-12-3 [015.73.553 MLYR-EEERAvE 3.0x20 (10004 AY) %= 9,530
319| K-12-3 [015.73.571 MUOA-EEERAYE 3.0%x25 (10004 AL) 5 10,110
319| K-12-3 |015.73.624 MR- EEERAvF 3.5%13 (10004 AY) %= 11,910
319] K-12-3 [015.73.633 MUIA-EERAE 35%x15 (1000 AY) 5 4,770
319] K-12-3 [015.73.642 MLOR-EEntyt 35x17 BEFHSHR 5 4,000
319] K-12-3 [015.73.651 MLR-EERAvF 3.5%20 (1000 AL) = 4,880
319| K-12-3 [015.73.679 MR- FEERAvF 3.5%x25 (10004 AY) %= 5.960
319] K-12-3 [015.73.688 MUOA-EEERAvE 35%x30 (10004 AL) 5 12,030
319| K-12-3 [015.73.697 MR- FEErAvE 3.5%35 (10004 AY) %= 13,100
319| K-12-3 |015.73.820 MR- EEERAvE 40%x15 (10004 AY) %= 6,000
319| K-12-3 [015.73.839 MR- FEERAvE 40%x17 (10004 AY) %= 6,000
319| K-12-3 [015.73.848 MR- EEERAvE 40%x20 (10004 AY) %= 6,090
319| K-12-3 [015.73.857 MR- FEERAvE 40%x25 (10004 AY) %= 14.650
319| K-12-3 [015.73.866 MR- FEERAvE 40%x30 (10004 AY) %= 8,000
319| K-12-3 [015.73.875 MR- EEERAvE 40%x35 (500K AY) %= 8.930
319| K-12-3 [015.73.884 MUIA-EESRAE 4.0%x40 (500K AY) 5 4,770
319| K-12-3 [015.73.928 MR- FEERAvE 45%x20 (10004 AY) %= 16,670
319| K-12-3 [015.73.937 MR- EEERAvE 45%x25 (10004 AY) %= 16,790
319] K-12-3 [015.73.946 MR- EEERAvE 45%30 (500K AY) %= 10,120

Circle



H—4)LHE0a45 Vol. 1258 i &=
[~y [+ [  && [ &% | = [ @ |

319| K-12-3 [015.73.955 MHR-EEERAvE 45%x35 (500K AY) %= 5,360
319| K-12-3 [015.73.961 MHR-EEgrivE 45%50 (500K AY) %= 15,900
319] K-12-3 |015.74.050 MR- FEERAvEF 50%x17 (10004 AY) i 9,530
319| K-12-3 [015.74.078 MLYR-EEERAvE 50%x20 (10004 AY) i 18,810
319| K-12-3 [015.74.096 MHR-EEghivF 50%x30 (500KAY) %= 13,100
319| K-12-3 [015.74.112 MR- EEERAvE 50%40 (500K AY) %= 15.480
319] K-12-3 [015.74.130 MLHR-EEERAvE 50X 50 (200K AY) %= 7.380
319| K-12-3 [015.74.132 MR- EEERAvE 50X 60 (2004KAY) %= 8,580
319] K-12-3 [015.74.154 MLOR-EEERAvE 6.0X40 (200K AY) %= 3,600
319| K-12-3 [015.74.158 MR- EEERAvE 6.0X60 (200K AY) = 13,030
319] K-12-3 |015.74.160 MHR-EEERAvE 6.0X70 (200K AY) %= 13.460
320 K-09-1 |PBS-3.0x12U N-FE'A I 30x12 1290 x 11,905
320 K-09-1 |PBS-3.0x 14U N=FE'Z M 3.0x14 1240 PN 11,667
320 K-09-1 |PBS-3.0x 16U N=FE'A I 30x16 190 x 10,715
320 K-09-1 |PBS-3.0x20U N=FE'A I 3.0x20 1290 x 8.120
320 K-09-1 |PBS-3.0x25U N=FE'A I 3.0x25 1290 x 6,860
320 K-09-1 |PBS-3.0x 30U N=FE'A I 3.0x30 190 x 7,000
320 K-09-1 |PBS-3.0x35U N-FE'A I 3.0x35 1290 x 5,835
320 K-09-1 |PBS-3.0x 40U N=FE'A I 3.0x40 1290 x 5525
320| k-09-2 |PBS-3.0x 12N N=FE'A I 3.0x12 Ni x 14,762
320 K-09-2 |PBS-3.0x 14N N=FE'A I 3.0x14 Ni x 14,167
320 K-09-2 |PBS-3.0x 16N N=FE'A I 3.0%x16 Ni x 12,145
320 K-09-2 |PBS-3.0x 20N N=FE'A I 3.0%x20 Ni x 9,690
320 K-09-2 |PBS-3.0x25N N=FE'A I 3.0%x25 Ni x 7.810
320 K-09-2 |PBS-3.0x 30N N—=FE'A I 3.0x30 Ni x 7.668
320 K-09-3 |PBS-3.5x12U N=FE'A I 35x12 1290 x 10,286
320 K-09-3 |PBS-3.5x 14U N-FE'A I 35x14 1290 x 10,715
320 K-09-3 |PBS-3.5x 16U N-FE'A I 35%x16 190 x 9,228
320 K-09-3 |PBS-3.5x20U N=FE'A I 35%x20 1290 x 6,858
320 K-09-3 |PBS-3.5x 25U N-FE'A Il 35x25 1290 x 6,430
320 K-09-3 |PBS-3.5x 30U N=FE'A I 35x30 1290 x 6,000
320 K-09-3 |PBS-3.5x 35U N=FE'A I 35x35 1290 x 5358
320| K-09-3 [PBS-3.5x40U N=FE'R M 35x40 1A X 4,834
320 K-09-4 |PBS-3.5x 12N N=FE'A I 35%12 Ni x 11,430
320| K-09-4 [PBS-3.5x 14N N=FE'R @ 35x14 Ni x 10,120
320 K-09-4 |PBS-3.5x 16N N=FE'A I 35%16 Ni x 7.715
320| K-09-4 |PBS-3.5x 20N N—FE'R I 35x20 Ni & 7,144
320 K-09-4 |PBS-3.5x25N N=FE'A I 35%25 Ni & 7.144
320 K-09-4 |PBS-3.5x 30N N=FE'A I 35%30 Ni x 8,096
320 K-09-5 [PBT-3.5x12U N=FE'A A 35x12 1290 PN 8,096
320 K-09-5 [PBT-3.5x14U N=FE'A A 35x14 1290 PN 7,500
320 K-09-5 [PBT-3.5x16U N=FE'A A 35%x16 1290 PN 7.239
320 K-09-5 [PBT-3.5x20U N=FE'A A 35%x20 1290 PN 7335
320| K-09-6 [WR25ZT 1-AALyN fEFFE 25 S 3550
320| K-09-6 [WR28ZT 1-AALyN fEFFE 28 S 3870
320| K-09-6 [WR32ZT 1-AALyN fEFFE 32 F 3870
320| K-09-6 [WR38ZT 1-AALyN fEFAFE 38 F 3870
320| K-09-6 [WR41ZT 1-AALyN B 41 F 3870
320| K-09-6 [WR45ZT 1-AALyN fEFAFE 45 F 3870
320| K-09-6 [WRS1ZT 1-AALyN fEFAFE 51 S 3870
320| K-09-6 [WRS7ZT 1-AALyN {EFAFE 57 S 3870
320| K-09-6 [WR65HT 1-AALyN {EFAFE 65 F 2590

Cirele



H—4)LAHK2Aa%5 Vol 12l &R
[~y [+ [ && [ &% | = [ @ |

320| K-09-6 |WR75HT 1-AALyh fEFAFE 75 5= 2,590
320| K-09-6 |WR9OHT 1-AALyh fEFAFE 90 5= 2,590
320 K-09-7 |SR25T AYLALYE 25 E] 3,100
320 K-09-7 |SR30T AJLALYE 30 E] 3,100
320 K-09-7 |SR35T AYLALYE 35 E] 3,100
320 K-09-7 |SR40T AJLALYE 40 & 3,100
320 K-09-7 |SR45T AYLALYE 45 E] 3,100
320 K-09-7 |SR50T AJLALYE 50 E] 3,100
320 K-09-7 |SR55T AYLALYE 55 E] 3,100
320 K-09-7 |SR60T AJLALYE 60 E] 3,100
320 K-09-7 |SR65T AYLALYE 65 E] 3,100
320 K-09-7 |SR70T AJLALYE 70 E] 3,100
320 K-09-7 |SR75T AYLALYE 75 E] 3,100
320 K-09-7 |SR90T AJLALYE 90 E] 3,100
320| Kk-09-8 |20x16 GB b7’ 29a— 2.0x16 GB NEERY 8 2,260
320| Kk-09-8 [2.0x16 Ni b7’ 29Ya— 2.0%x 16 Ni MIEERY 7 2,260
320| Kk-09-8 [2.0x16 HOi—} b7°A9Ya— 20x16 JAi—b XEERY 7 2,260
320| Kk-09-8 |20x19 GB b7’ 29a— 2.0x19 GB NEERY 8 2,260
320| Kk-09-8 [2.0%x19 Ni b7’ 29Ya— 2.0%x19 Ni MIEERY 7 2,260
320 Kk-09-8 [2.0x19 HOi—} b7 R9Y2— 20x19 JRf—k  XTEERY & 2,260
320| Kk-09-8 |2.0x24 GB b7’ 29a— 2.0x24 GB NEERY 8 2,260
320 K-09-8 [2.0x24 Ni b7°A92— 2.0%24 Ni MIEERY E 2,260
320 Kk-09-8 [2.0x24 HOi-} b7 R9Y2— 2.0x24 YRi—k  XTEERY & 2,260
320| Kk-09-8 |2.0x27 GB b7’ 29a— 2.0x27 GB NEERY 8 2,260
320 K-09-8 [2.0%x27 Ni b7’ 292 2.0x27 Ni XIEERY 7 2,260
320 K-09-8 [2.0x27 yOi-} b7 R9N2— 2.0x27 JRf—k  XTEERY & 2,260
320| Kk-09-8 |2.0x36 GB b7’ 29Ya— 2.0x36 GB NEERY 8 2,260
320| Kk-09-8 [2.0%x36 Ni b7’ 29Ya— 2.0x36 Ni MIEERY 7 2,260
320 K-09-8 [2.0x36 JOAi-} b7 R9Y2— 2.0x36 YAf—k XTEERY & 2,260

Cirele



